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4.1 Array

MLABANRIEABRARE.
o HARERE, WENIESSERENEE, MARET.

o HEARKEVRZEEE,
=" BERF, RARTREERHIBHIIRT.
NIl EBeERRgEr (0l

o o5 ==,
o $E514A

JREGETRL.

a:
b:
C:

d:=[...]struct {
name string
age uint8

H

BRFEAMERD.  [21intF [3]int 2FREZEEL

[31int{1, 2} // Rt TE=ENR O,
[..]int{1, 2, 3, 4} // BEISHERERERE.
[5]int{2: 100, 4:200} // {ERZRS I SHIALTTE.

{"user1", 10}, // FIEBETTE=REEL,
{"user2", 20}, // BT RE—1THIES.,
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}

STHFE A,
a := [2][3]int{{1, 2, 3}, {4, 5, 6}}
b:=[.J[2int{1, 1}, {2, 2}, {3, 3}} // 5 2 BBEAEER "..."

[EEITHSIENMRETR, BESENER 1% A=t =

<iframe style="border:1px solid" src="https://wide.b3log.org/playground/84e741fc120579eb
9eea9222db5a672.go?embed=true" width="99%" height="500"> </iframe>

WERE len 7 cop FREKEAKRKE THREE).

a := [2]int{}
printin(len(a), cap(a)) // 2, 2

4.2 Slice
EEEE, HARHHENF BT, CRIINIIEETFIERELS |BEERER, UMK AE,

runtime.h

struct Slice
{ // must not move anything

byte* array; // actual data

uintgo len; // number of elements

uintgo cap; // allocated number of elements
%
o 5|FA3LE, (BEESEEMIK, EIENEE.
o B A ATENE, EEREAEERTIZIRF.
o B FREBRAY KEE, FeeELEERT.
o YNR . BBA len, FEREBET 0.
data :=[..]int{0, 1, 2, 3, 4, 5, 6}
slice := data[1:4:5] // [low : high : max]

+ low high —+ +— max len = high — low
| | | cap = max — low
e e s s T ! e o e +
data | ® | 1| 2] 3 ]4]5]| 6| slice | pointer | len = 3 | cap = 4 |
4+ttt ———+——+ e e e +
| e ] | |
| I |
|< cap >| |
| |
- < slice.array pointer —=<=——+

BIERIAIVERNIRTRRSIS, MiE.
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data = [..-lintd®, 1, 2, 3; 4,.5, 6, 7, 8, O}

expression slice len cap comment

—_————— — —t + —_———
datal:6:8] [@12345] 6 8 £BE low.

datal5:] [56 7 8 9] 5 5 £BE high. max.
datal:3] [0 1 2] 3 10 £BE low. maxe

datal:] [@1 2345678491 18 10 2AERE.

EERFLRERERERE, REERERSISHER.

data := [..]int{0, 1, 2, 3, 4, 5}
s := data[2:4]

s[0] += 100

s[1] += 200

fmt.Printin(s)
fmt.Printin(data)

i

[102 203]
[01 102203 4 5]

JEZEE MR, BMNDERELRE.

s1:=[lint{0, 1, 2, 3, 8: 100} // BIVIIAFRANE, AIERRSIS.
fmt.PrintIn(s1, len(s1), cap(s1))

s2 := make([]int, 6, 8) // {£H make €JiE, 5% len #1 cap (B,
fmt.PrintIn(s2, len(s2), cap(s2))

s3 := make([]int, 6) // & cap, BT cap = len,
fmt.PrintIn(s3, len(s3), cap(s3))

i

[01230000100]99
[00000O0] 68
[000000] 66

fsEFS sIABIRE slice, R THAVNAREEMIKENRMN. KRR ERLARESE,
LR I ELEIR(F,

s :=[]int{0, 1, 2, 3}

p := &s[2] // *int, SKENEEEETTEISET.
*p += 100
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fmt.Printin(s)

i
[01102 3]
=F . BIgTEEEN (T,

data := [][]int{
Nint{1, 2, 3},
[1int{100, 200},
[lint{11, 22, 33, 44},
}

JEREN /

= [5]struct {
X int

H}
s:=d[]

d[1].x =10
s[2].x = 20

fmt.Printin(d)

fmt.Printf("%p, %p\n", &d, &d[0])
- Tank

[{0} {10} {20} {0} {O}]
0x20819¢180, 0x20819¢c180

4.2.1 reslice

Fmis , BETER Bl

s:=[]int{0, 1,2,3,4,5,6,7,8, 9}

s1:=s[2:5] // [2 3 4]
s2:=s1[2:67]1//[4567]
s3 :=s2[3:6] // Error

e e gl e E o

data | @ | 123 | 4151 6171819 |
B e e S S S s
2
e T L e S
51 120304 | | 1 1 |
T e e T
2 6 7
S e
52 415|817 |
S S R S —
3 4 3

+———t———t——+
53 | 718 X |

+——t———t———+

MR, LUMETE cop P EENEREM.

len = 3, cap = 8

len = 4, cap = 5

error: slice bounds out of range
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ORI BERRREERA.

s:=[]int{0,1,2,3,4,5,6,7,8, 9}

s1:=s[2:5] // [2 3 4]
s1[2] = 100

s2 :=s1[2:6] // [1005 6 7]
s2[3] = 200

fmt.Printin(s)

B

[012310056 2008 9]

4.2.2 append

M| slice EERAINEEE, IREIFHY <lice X%,
s := make([]int, O, 5)
fmt.Printf("%p\n", &s)

s2 := append(s, 1)
fmt.Printf("%p\n", &s2)

fmt.Printin(s, s2)
M

0x210230000
0x210230040

[1101]
BIERASE, WURLE array(slice high] SEE.

data:=[..]Jint{0, 1, 2, 3,4, 5, 6, 7, 8, 9}

s := data[:3]
s2 := append(s, 100, 200) // FINZME,

fmt.Printin(data)
fmt.Printin(s)
fmt.Printin(s2)
M

[01210020056789]
[012]
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[0 12100 200]
—EigtR PR, MSEHOERELE, EREAFRER.

data :=[...]int{0, 1, 2, 3, 4, 10: 0}
s := data[:2:3]

s = append(s, 100, 200) // —iX append FME, BH s.cap fRH,

fmt.Printin(s, data) // EroBURESE, SREETXK.
fmt.Printin(&s[0], &data[0]) // LEXIEREE B IaIEET .

B

[01100200][01234000000]
0x20819c180 0x20817c0c0

MNEIHEERATLIEH, AR s EFroE T IRERA, FEHEE. RREN—ME, WA
B PR, tWMASEFHDE.

BE 2 BEEENHOEKRESE. EANERIIEEN, BN —REDEEBAIZE, LUBDH
DECHIEERSHITH. BB on Blt, WARSISHITEME. REBRABERN
R, ERSFESEIEE, & CC TERL,

s := make([]int, 0, 1)
¢ := cap(s)

fori:=0;i<50; i++ {
s = append(s, i)
if n:=cap(s); n > c{
fmt.Printf("cap: %d -> %d\n", ¢, n)
c=n
}
}

i

cap: 1->2
cap: 2 -> 4
cap:4 -> 8
cap: 8 -> 16
cap: 16 -> 32
cap: 32 -> 64

4.2.3 copy

REL EFT [EEFIEIE, SFHKELL en MYk, B HiERR—RERE, 7
TEXEEZ.

<iframe style="border:1px solid" src="https://wide.b3log.org/playground/d8ba515d1dc7b13
44c67badce9d1960.go?embed=true" width="99%" height="500"> </iframe>

[R3Ci#E: Go ihEiN%: - (Go FIEIC) &5 (J\)


https://ld246.com/article/1438311936449

IPSERp ST S R . LEREXSKEEERT.
T—#: https://hacpai.com/article/1438596722873

o XRFIREBTFFREM (Go FI=EIC) (F0hk) BECHMmMA, IFERSRRINFEEITHSSE!
o IEEHSIERE: NEREE: RBRESERMLEK [https://hacpai.com]
o NRRBEAXEDLMSAE, BE FEFTE—TE~

XN

o XiFiR& [golang] AILISEER Go HBXMLF
o X FERIBFILESUEIEA
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